
���������������������������������������������
������������������������������������
���
������	��������������������������������

����������
������
�������
���
��
�����������������
��������
���������
�������
��������

��� 
��������
�����
���� �� ����������­

�������������������� �����������������
������������
���������������������������������������������

��������������������
������������������������� 

��������
����������
����

��������
�������
������

��������������� ������
����������
�����
���������������������
��
�����	�������
������������	��

2mm Drill bit

x2 ���������������������������	������
������������������������������
����

������������������������
���
�����
�����������

�������������������
��
���
�����	����������������
����
����������������������
����
����������
��������� �

�������
����
��­�����������������������������
������
�������	��
���������������������
	���	�
������	����������������������
����������
������������������������
������������������������
�������� ��������������������������������
�������

�������������������
��
���
��������������	�������������

��
 ���������������

��	�������

�����������������

��������
���������������

����������������	

�������
���������������­���

�������������������������	����������������������

�������� ��� �������������� 
��
�����������
�� ��� �������������������� ������������� �������� ���������
� ���� 
����
��
�		��
������������������������������������������������
�

���������������
������������������
�������������������
������		����������������
��������������
��	�����������������
����������

�������� ���������� 
��������� ����
� �
���� ������� �
�������� ���� ���������� ������� �������� ��� ������� ���
�
��
���	����

�����������
������������������
�����	������

����������������������������������������������������
�����
 �����	�
 ������� �������
������������������������������������	����������	���������
�������
�����������
������������� �������
���������������������������������������		�������������������	������������������
	�����
������������������	����
�����	�
��������
�������
�����������������
��
���������
���������������������������������	����
����������������������������������������

���������������������������������
����������������������������� ����������� ����	������������
�������������������� ����������

���� �������������
���
�����������������������������������������������������������

������	��������
����������������	��
����
����������������������������������������������	����������������
��������������
����������������

������
������������ ������������������� ������� 
�������­�
����������� ���������������� 
����������� ���� ��������������������
����
���������	�������������������������������������	��������
��

�������	������������������
�������

������������
�������
��
��	��������������� ������������������ ������������������
�� ������	��
������
���������������������
���������	���� ��� ���
����������������������������������������	��
������������������������������	�����������������������������������������
��
�����	�����������������������������

��
��
������������������������������������������������������������������������������
�����������	����������������������
�
���	�������������������������������������������������	��������������������������������������������������������������

��	�������������������������������	�������������������������	����
��������������������
�
������������	������������������
	��������������������
��������������������������������������������	������������������	��������������������
������������������������������������������		�����������������������������	���������������������	������������������

���������������
��������� ���������������������������������������������������������������
������
�����
���������������������������

������������������������������
����� ����������������������

���������������������������������������������������������	��������������������������������������������������������������������
����������������������
�����������������������������������������������������������������
���������������������	�����������

���������������­�������������������������
�������������������������������������������������������������������������������
���������������

�������������
�����
��������������������	��������������
����
����������������������������	������
��������������

��������������
�����
����������
������
�
���������������������
��
��������������
��������������������
���������
�����
��
����
������ �����
� ��� ���­� ���������� ������� ������� ��������������� ���� ����� �������������� ��������� ��� ������ �����
���
��� 



�������������������� �����������������
������������
���������������������������������������������

����������

������������������
���������������������������������������������������������

�������������������������������������������������������

���
 ��������������������������
�������������������������
��
������
���������������

���
 �
�������������������������	�����

���
 �
����������������	����
�������������������
���������������������������
�����
	�����������������������������������
��
������������������������������������������	���

������������	����
�����	����������	��
����	�������
������������������	�
 �

���	��������	����
������
���������������

�		�
���	���������������������	������������������������������
�����������
����������������������������
��������
��������
�������������������������
����������

�������������
��������������������������������������	����

���
�����������������������	���������
�����������	��������	������
�

���������
������������������������������������������������������������������������
�����

��������������

������
�����������
���������
�����
�������������
������	����������������������
��	���������
��������
�	����������
�����������	�
������
�������������������
�������	��
������

����
��������������������
�

��������������	�������

�����������������������������������
��������
��������
��������

��������������������������������
��������������������
 
�������������	��
���������

��� 
��������
�����
���� �� �����������

������������������

���
�������������������
���������	��	����������������
����������	������
����
���������������������������
����
��������������

������������
��
���
�����������������������������������
��
������������������������������������
������

�������	
���	�����������
��������	����
���
��� ������
�����

���������������������������	
���	����������	�������
��
��� �

�����
�������������	����
�������������������������������
���	�����������	�����������������������������
��
��������

�����

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



��� 
��������
�����
���� �� �����������

�����������������
������������
������������������������������������������������������������������������������������

8

Some steps within this set of instructions come with an added video guide for your 
convenience. These can be accessed via the QR code and used to aid you in constructing that 
step. See below for how to use.

You can also �nd all the videos on our youtube channel:
 https://www.youtube.com/@merciagardenproducts8716/videos 

ACCESSING VIDEO GUIDES...

1.Find the QR code within the instruction step...

2. Open camera app...

3. Scan QR code...

4. Watch the video...

On your personal smart device (phone, tablet etc), open your camera app or QR code scanner 
app.

To scan the QR code, hold the camera over the QR code so that it can be seen on the screen. 
Once the QR code has been registered, follow the prompts on your device to open the video. 
(This will vary depending on your device.)
Please note: Ensure to use the back camera of your smart device as this will scan the QR code more 
accurately.  

����������������	

The video guide will now be displayed on your smart device. 

Parts Needed-  No. QTY 1 
     No. QTY 1 
     No. QTY 1

Step..... ����������������	

Within the instruction step, there will be an icon in the top right that has a QR code in. This 
is where the video can be accessed from. 
Please note: not every step has a video guide. 

Disclaimer: The garden building constructed in the video guides may be 
constructed di�erently to your building. Please ensure to read your instructions 
carefully to avoid error. 

ACCESSING VIDEO GUIDES...



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� �����������

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 1207mm 
Depth = 2542mm 
Height = 2122mm

Base Dimensions: 
Width = 1133mm 
Depth = 2430mm 

Nail Bag
There may be extra screws present in the nail bag 

Door Panel QTY 1
AI-01S11SHDD1135X2058-V1

Back Panel QTY 1
AI-S11SHPP1135X1940-V1

Side Panel QTY 2
AI-S11SHPP1187X1681-V1

Floor QTY 2
AI-R11MBF1133X1215-V1

Roof QTY 2
AI-S11MBPR1143X1258-V1

Door QTY 2
AI-S11FBMBZBD479X1680-V1

Rear Gable Top QTY 1
AI-S21SHDBPGT1187X358-V1

Front Gable Top QTY 1
AI-S21SHDBPGT1187X417-V1

9
Back Cover Trim - 12x40x1909mm QTY 1
S1240-1909mm

10
Front Cover Trim - 12x40x2055mm QTY 2
S1240-2055mm

11
Fascia Trim - 12x95x1143mm QTY 2
S1295-1143mm

12
Door Cover Trim - 12x60x770mm QTY 2
S1260-770mm

1 2 3 4

5 6 7 8

13
Roof Framing - 28x28x1143mm QTY 2
FS2828-1143mm

17 19

15
Door block - 28x28x140mm QTY 4
FS2828-140mm

18

14
Gable Framing - 27x44x1156mm QTY 2
F2744-1156mm

Pad Bolt QTY 1
PI-07-0035

T-hinge QTY 6
PI-02-1045

Turn Button QTY 4
PI-07-0034

Felt
PI-01-0015

20

50mm Screw x 81 

Felt Tacks x 50

30mm Screw x 7860mm Screw x 12

40mm Screw x 42 

20mm Screw x 6

16
Floor Joining block - 28x28x250mm QTY 3
FS2828-250mm

Building Contents:



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� �����������

Pre Assembly
Before assembling remove the transportation blocks from the bottom of each 
panel.

Take care removing the blocks as to not damage the panels. Tap with a �at headed 
screwdriver and hammer.

Dispose of the blocks once removed.

Pre Assembly
Follow the instructions for the 8x8 Corner 
Summerhouse (03DTSHCR0808FGD2TW), 
however DO NOT attach the Felt, Rear Cover 
Trims or the Fascia Trims. 

Not attaching these parts allows the extension 
to be �xed in place.

Your building should look as shown.

PLEASE SCAN HERE:

1

6
6

17

12

Pre drill 
hole

30mm 
screw

20mm 
screw

17

Step 1
Parts Needed - No.1 QTY 1
   - No.6 QTY 2
   - No.12 QTY 2
   - No.17 QTY 6

Fix the T-hinges (No.17) to each of the 
Doors (No.6) with 4x30mm screws per 
hinge making sure to  screw into the 
framing on the rear of the Doors.

Once the T-hinges are �xed into 
position lay the Door Panel (No.1) �at 
on the ground �x the door in position 
using 3x30mm screws per hinge.

To create a Master and Secondary door 
�x the Door Trims (No.12) to one of the 
doors overlapping with the other door 
as shown using 3x20mm screws per 
trim.

6x20mm Screw
42x30mm Screws

12

IMPORTANT: Pre-drill before �xing screws.

PLEASE SCAN HERE:



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� �����������

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

30mm 
screw

4

16

16

16

Step 2
Parts Needed - No. 4 QTY 1
   - No. 16 QTY 3 

Secure the �oor (No. 4) to the Floor 
Blocks (No.16) using 6x30mm screws 
per �oor. 

6x30mm Screws                       

Pre drill 
hole

30mm 
screw

4

IMPORTANT: Pre-drill before �xing screws.Step 3
Parts Needed - No. 4 QTY 1

Secure the �oor (No. 4) to the assembly 
from Step 2, using 6x30mm screws per 
�oor. 

6x30mm Screws

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

60mm 
screw

4

4

Step 4
Place the two assembled Floors (No.4) 
up against the 8x8 Corner Summerhouse 
on a �at, level surface. Fix into position 
using 4x60mm screws as shown.  

**To position the side shed on the left, 
position the �oor on the left and �x in 
the same way shown.

4x60mm Screws

IMPORTANT: Pre-drill before �xing screws.Step 5
Parts Needed - No.1 QTY 1 

Fix the side of the Door Panel (No. 1) 
against the side of the 8x8 Corner 
Summerhouse Window Panel as 
shown using 4x60mm screws.
 
Do not secure the building to the 
Floor until the roof is �tted.  

4x60mm Screws

Pre drill 
hole

60mm 
screw

1



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� �����������

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

60mm 
screw

Step 6 
Parts Needed- No.2 QTY 1

Fix the side of the Back Panel (No. 2) 
against the side of the 8x8 Corner 
Summerhouse Back Panel as shown
using 4x60mm screws.
 
Do not secure the building to the 
Floor until the roof is �tted. 

4x60mm Screws

2

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

12

33

Step 7
Parts Needed- No. 3 QTY 2  
Fix the two Side panels (No.3) together 
using 3x50mm screws.  Then �x the side 
panels to the Door (No.1) and back 
panel (No.2) using 3x50mm screws at 
each corner.

*8x8 Corner Summerhouse not 
shown*
 
Do not secure the building to the 
Floor until the roof is �tted. 

9x50mm Screws

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

7 8
Step 8
Parts Needed- No.7 QTY 1
  - No.8 QTY 1

Place the Gable Tops (No. 7 & 8) on top 
of the assembled Side Panels (No. 3) 
slotting the boarding of the gable over 
the top of the boarding of the side 
panel as shown.

Fix with 4x50mm screws per gable top 
as shown in diagram.

8x50mm Screws

3

Internal Edge 
External Edge 

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

7 8 1

2

Step 9
Secure the Gable Tops (No.7 & 
No.8) in place against the Door 
Panel (No.1) and Back Panel (No.2) 
using 2x50mm screws per Gable 
Top.     

4x50mm Screws



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� �����������

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

14 14

14 14

Step 10
Parts Needed- No.14 QTY 2

Place the Gable Framing (No.14) on 
the top of the Gables, ensuring they 
are �ush with either end of the 
gables, leaving a gap between the 
two piece of framing as shown.

Fix with 3x50mm screws per Gable 
Top.  

6x50mm Screws

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

30mm 
screw

5

5

Step 11
Parts Needed- No.5 QTY 2

Place the two Roof Panels (No. 5) �at, 
in-line and upside down. Secure them 
together along the central bearings 
using 8x50mm screws, ensuring to 
stagger the screws so they do not 
collide.

8x50mm Screws

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

5

5

13

13

Step 12
Parts Needed- No.13 QTY 2
 
Before placing the Roof (No.5) on the building, 
place the roof upside down and attach the Roof 
Framing (No. 13) �ush to the end, perpendicular 
to the roof bearers. Fix in place as shown with 
5x50mm screws per Roof Framing.  

10x50mm Screws

IMPORTANT: Pre-drill before �xing screws.

50mm 
screwPre drill 

hole

Step 13
Place the Roof Panels (No.5) on top of 
the building, ensure the Roof framing 
(No.13) slots over each side.

Fix the roof panel onto the extension 
using 10x50mm screws as shown.

Secure the roof to the Summerhouse 
roof internally using 4x50mm screws 
through the roof bearers, as shown in 
the diagram.

14x50mm Screws 

Summerhouse roof 5



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� ����������¡

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

Right Side Shed only

Step 14
Parts Needed- No.22 QTY 1 (8x8 
Corner Summer house)

Fix the Rear Roof framing (No.22) to 
the back of the Summer house roof. 
Secure using 6x50mm screws. Ensure 
to go through to the roof framing 

6x50mm Screws 

22

IMPORTANT: Pre-drill before �xing screws.

50mm 
screwPre drill 

hole

Step 15
Once the Roof is in position the 
extension can be �xed in position.

Fix the building in place by using 
16x50mm screws.

16x50mm Screws

Felt 
tacks 

Step 16
Parts Needed- No. 20 QTY 1
  - No. 30 QTY 1 (8x8 Corner Summer House)

Cut four strips from the roll of felt (No.18 and No.30):
1 x 2120mm (L) x 1000mm (W) - Sheet 5
1 x 3820mm (L) x 1000mm (W) - Sheet 4
1 x 4525mm (L) x 1000mm (W) - Sheet 3
1 x 3535mm (L) x 1000mm (W) - Sheet 2
1 x 1735mm (L) x 1000mm (W) - Sheet 1

Place the felt on top of the roof and align as shown in the diagram, ensuring strip 5 overhangs the front of the 
building by 50mm and strip 1 overhangs the back by 200mm, with equal spacing at each corner.

Once laid, cut the sheets down to the correct angled shapes as shown by the dotted lines in the diagram. Use a fascia 
or straight edge as a cutting guide. Ensure there is a 50mm overhang on each edge. 

150 x Felt Tacks

2120mm

1000mm

1000mm

1000mm

1000mm

3820mm

4525mm
3535mm

1735mm
2 13

4

5

100mm

HANDLE
WITH CARE

1 2

3

4

*Ensure Strip 1 is the �rst piece placed down, 
then lay sheet 2, then sheet 3, then sheet 4 and 
then sheet 5. Make sure each sheet overlaps 
the next by at least 100mm, creating a run-o�.  



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� ����������­�

IMPORTANT: Pre-drill before �xing screws.

9

10
10

Step 17
Parts Needed - No.9 QTY 1
   - No.10 QTY 2

Fix the Cover Trims  (No.9 and 
No.10) plus the remaining cover 
trims from the 8x8 Corner 
Summerhouse into place using 
3x40mm screws per Trim.

Fix the Cover Trim (No.17 & 24) 
from the 8x8 Summer House using 
3x40mm screws per Trim. Ensure 
that they are equally spaced across 
the panels, and covering the panel 
join.  One of the Cover Trims will 
need to be cut to �t over the gables 
and side panels.

15x40mm Screws

40mm 
screwPre drill 

hole

24

17

*Cut down 
trims to �t

IMPORTANT: Pre-drill before �xing screws.

11

11

Step 18
Parts Needed - No.11 QTY 2

Fix the Fascia Trims (No.11) plus 
the remaining Fascia Trims from 
the 8x8 Corner Summerhouse 
into place using 3x40mm screws 
per Trim. 

27x40mm Screws

40mm 
screwPre drill 

hole

IMPORTANT: Pre-drill before �xing screws.Step 19
Parts Needed- No.15 QTY 2
  - No. 19 QTY 1

Fix two Door blocks (No.15) to the 
back of the Doors (internally) with 
2x30mm screws per block going 
through the front of the door 
boards and into the block behind.

Fix the Pad Bolt (No.19) to one of 
the Doors (No.6) using 12x30mm 
screws. 

16x30mm  Screws

30mm 
screwPre drill 

hole

19

15 15

IMPORTANT: Pre-drill before �xing screws.

18

15

Step 20
Parts Needed- No.15 QTY 2
  - No.18 QTY 2

Fix the Door blocks (No.15) to the top 
and bottom of the Doors (internally) 
with 2x30mm screws per block going 
through the front of the door boards 
and into the block behind

Fix one Turn Button (No.18) to each of 
the Door blocks (No.15) using 
1x30mm screw per turn button.

6x30mm  Screws

30mm 
screwPre drill 

hole



�����������������
������������
���������������������������������������������

��� 
��������
�����
���� �� ����������­­

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

30mm 
screw

18

Step 21
Parts needed - No. 18 QTY 2

Fix the Turn Buttons (No.18) above 
each of the Doors using 1x30mm 
screw per turn button.

2x30mm Screws

*These turn buttons help to keep 
your doors straight during high & low 
levels of moisture content in the air.

It is ESSENTIAL that you apply wood 
treatment immediately after the building 

has been assembled.

AFTER TREATMENT:
score around protective

 cover on glazing and
 carefuly peel

 covering back

��������������������
Want to share your experience with us? 
Leave us a review on Feefo, TrustPilot or Google.

Your reviews help other people �nd and trust our 
business, as well as helping to play an important role 
in our growth and improvement! 



����		�
���	����������������������	�������������������	����������������	����
����������
����������	����������������������������
��������������
�������������	���
�	�������
 ��������
�������������	��

������������������������������
��	����
��������������	��
���������� �

���	���� ���� ������ �
� �������� ����� ��
� ������� ��� ��
��������
���� ��� ���� ������
�������������� �������������
����

������� �� ��
� ��
� ��� ������ 
���� ������� ���������� ��� 
������ �	��
���� ������� �����
���������	���������������������
���
��

��������
���
��������
����
������������
������
�����������	��������������
����������
���������� �����������������
�	�����������������
�����������
�����������������������
������	������	�����������
������������������������	������

��	���������������	��������������������������
������	��������������������

���	�	��������������
���������������������
�����������������
��������������������������

��������������������	����������������	�����������	���������������
��������������������

����� ��
� ��	�� ��� ���� ����������� ���
� ����� 
��� � ��� ����� ������� ��� 	������� ������ ����
�������������������������
����������
��� ������������������������������������������������
���	�������������������
�
������������������
�
��	�����
������������������������
���	�
���� �������� ��	�� ��� ��� ��� ����� 
���� ���������������� ���� ��� � ���� ������ ��� ���� ��������
¡�������������������������������������������������������

��������
��		�
��������������
����������������������	����
��������������������	��
���� ����

�����������������������
�������
��	�����
���
���������		�
����������
�����

�� �� ����� ���� ��������� 	��������� ���� ������ ��� ���� �����
�� ������ ��	�
����
� �������
��������
��
 �������
��������������
����������

�����������������������������

������������������������������������� ������������ �����������
�
������������	�	����
��
��������������������� ��	����������		�����
�����������������������������
�� ����
������������������������

����������������
���������������
��­�
������������������
������		�����
�����
�����������������������
��
���������������������������
������
��
 ���������������
��������		
����������
���
���
�� ������������
�	��
�����������	��	����������������������������������
�����������������������	��	���������
�
�������
���	�����������������
��������������������������������������������
�����
¡��	���������������
��������������
�������������

����������
�����
�����������������	�������������������������	����
��������������������
�
������������	������������������	��������������������
���������������
�����
����������������������	������������������	��������������������
����������¢��������
����
������
����������		�����������������������������	���������������������	������������������

��� 
��������
�����
���� �� ����������­�

������������������������������������� �����������������
������������
���������������������������������������������

��������������������

�����������
��������������

��������������������
�������������������	

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



�����������������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������

�

�����������������������������	
��������
����������������������������
��
 ���������������
������
����������������������������
�����
�����������������������������������������������������������������

�����
 �������������������
���������������������������������������������

�����
 �����������������	�����������������������������	������������������������������	��

�����
 ��������

����	��
������
�����	���������

�����
�����������������
�������������
�������

�����
 ���
�
��������������	��������������
�����

������������������
�����¢�
��
 �����������������
������������	���

����������������������������������������������������������������������£���

����
����

���
 ������������	������������
����	����
�����������������������������������	���������������
���
����
�����������������������������������������
����­�
���������������������������������
�������
����
������������������������������������� ��	�	�����������������
��

������

���	�
�����������������������������������	����
�������� ������	������
��
 �����������������������
�������������������

�����
�����
������	������������������������
��������������
����������	������

��
 �������������

����

���
 �
�����������������
�������������	�����������������������������������������
�������
����
�
��������������������	�������
����
����

�����������
���

��	�����������
�����
�����
���
�����������������������������
 ������
������­�
���� ���
�	������������¡����������������������	��������
���������������������������������������
��������������������

���

�������
������£���	�������������		�
������
������������������������
 ���������
�

��������������

��� ����������� ���
��
 ����� �
������������������� ����������
� ������
��������� ���������� ����

�������	�
���
���
��������������
�����������������������������������������
�����
���	�������� 
������� ���������� ��� ������ ��	������� ���� 
�����
����� ��� 	������� ��	�����
����������	�		������������	����

����

��� ��������
����
���������� ��������������� 
������������������������� ��� �������
��������
�������������
�������������������
��

������������������������

������

�������
����	����
����������
�	�������������������	����
���������������
��
���
���������
�������������	�����������������	�	������������������������������������������
����������	�
�����������������
��������
�������
�����������������������	���������

��
������������������������������
��������������
���
��������������
����
����������������������
���� ������� ���������
�� �������� ������ ���� �������� �	��� ��������
� 
��� ���	� 
������ ����
������������������������	�

����������
�

�����������	��
��
�����
�������������������������������
����	����
����������
����������������

��������� ����	� ���� ������� ������� ����� ���� 
�������� ���
 � ���� ������ ��� ���	� ����
����������������
�������������������	���������������

�����
�������
 �������������������

���� 	����
�� ���� ������ �	� ��� ������� ��
�� ��� �������� ������� ���� ������� ������ ��� 
�����
���������������������������������

1

2

3

4

5

6

7

8

9



������
��������������
�����������
�������¤����
�����������������	

������������
��������� ������ ������������ ��� ����
������
�������� 
�����������
������������������������������������ ���������������������
���������������������

������� ��� ���� ������� ����� ���
�� ��	������� �	��� 	���������� ��������������

��������������
������� ������� ��� ���� 
��	������� ������� ��������
� ��	����������

�����
������ ��� ���� 
��	������� ��
� ����� ����� ���� ��
� �

���� �� �����
�����	�������� ���������� ����� ���� ������ ��� ���������	����
����� ������������ ����
�­�
����������������������� ����

������������	�������������
����������������������������������������������������
��������	������������������
�������
������������
��	��
������������������
��������
������� ������ ��� 
��������� ����� ����� ����� ��
� ��� ������� ���� ����� ��� ����� ���
	�������� ����� ���� ����� ��� 	������� ��������� ���� �� ���� ��� ������� ���� ������
�������

��
����
�
���
�����������������������������
�����������	�
����������
���
���������������
���������������������������������
�����������������������	�
����
�
���������������������
���������������
��������������������������������������
��������������
����������������������������������������������� ��
����
�����������
������������

��� 	������� ���� �������	� ��� ���������� ��� ��
������� �������� ���� ����� ���
�������� ��� 
���� ��������� �	��� ����� ����� ��� ������ ��� ������ ���� ������ ���� ���

��
������� ��� ����� ������� �������� �������� ���� ��� ���	� ������ ��� 
���� �������
�����������������������������
���������������������������������������������������������
������� ����� ������ ��� ����� ������� 
���� ��������� ��� ��
������� ������ ���
����������� 
������� ��� ������� ��� ���� ��� 	������� ��� �	��������� ���
�� ��� ����
����������
�����	���������
��������
��������������������

�������� ������� ��
� ������ �� ���� ��
� ����
�� ������ �	����� ���� 
��
 �� ��� �����

��	������������������
��		���������� ���������� �����������������������������
�­�
����������
��������
��������������������������������
��������������������������

�����������
��������������
������������
���������������

�����������������
��

���������������������
��		������
���������������
������������������������
�����������
�������������	����������������������������������
�����
�����������������	� ��������
�������
�������������������
�����������������	�
�������������������������������
��
��������������������������
������������������������

�������������
�������������	������������
��������
���������
��������������������	�������������������
�����������������������������	�������
��
��� 

������������¥�����������������

����������������������������������������������������������������������������
��������
�������������	������� ��������� ����������������������
��������������
��
������

��
�������������������������������
���������¤�����������

��������������������������
��������������������������������������������������������
����� ���� 
�������� ������� ������	� ���� ������ 
�������� �� ���� �­� ���� ������ ����
	���������������������	�������������������������������

����������
������������������������������������������������������������������
������������������������������������������������������

�

�������������������������������
�������
���   2

���������������
���������������������������	������������
�����������������������
�������

�����������������
�����������������������������������������������������
���������

������	��������
����������������	��
����
�������������������������������������
���������	����������������
������������������������������

�������������
����������������������������������
�������
���   1

�¦���������������   

��
��
�����������������������������������������������������������������������������
��
������������	����������������������
����	�������������������������������������
������������	�������������������������������������������������������������

��	�������������������������������	�������������������������	����
������������������
��
�

�����������	������������������	���������������������
��������� �������� ���������� �� �������� �� �����	����� ���������� ��� 	������� ������
��������
���� ����������������� ������� ������ �� ���� ��		����� ���������� ���� �������� ��
	���������������������	������������������

��� ����� ��
������� ������ �� ����
��� �������� ��� ���� ������� ���� �������� ��� ����
�������� ��� ����� ��� 	�������� ����� �������
� ���� ���������� ��� ����
� ����� ����
���������

�������� �����
�������� ������� ��� 
��
 ��� �������
� ���� ��	��
��� ��� ������
�

�������
�

3

4 ��������
�������������
����
�����������������

��	���	��������������������������������	�
���������
��������������	�����������
������������������������������
������������������������������

��
������������������¥

�����
������
��������������
��

��������
��������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������

������������������������������������������������������
�����������
��������
��������������������	����
��������������
�������������	�
�������������
��������������
������������
���������������������������������
������������������
����������������
���
�����������	����
��������
��������������������
����������
�������������������������
����������� �
�������
�������������
����������	����
�¦

��
���
��	
���	�������

�����
������
��������������
������������������

��������������������
������	�������
��
��� ��



�����������������

��������
���������������

����������������	

�����������������������

�������
���������������
������� ��		�������������� 
�����������
��������	�������������
������
�����������
���
������������
����������
������������������	��������	������������������	����
��������
�����

������������
���������������������
�������������������

���

��������������������������
�������������������������	���������
���
�
��������	������
����������������������������	��
����������������������
������
�����������������
�������
��������������������������
��������������������������������������������
�������������

�����
��������������������
����������
����������
��������������
��� � ���� ��������� ���� ���� ����� �������� �������
� ��� ��� 	��� ���� ������
��������
��
��������������	���������������
��	������� �	�������������������
�����
���������������������������������
����������������������������	���������		�����������
������
��� � ���� ��������� ���� ���� ����� ���
���� ��� �� ��������� ��£��� ����� ������ ������ ������

��
������������������	��
������	������������������������
��������������������������������	��
����������������������������
�������
��������������
�������	����������
�����
������
��
���������������������	��������������������
§�������������������������������
����
��
�����������������������������������������������
�������������	��	���
������������
�������
�������������¡�����������������������������������������������������
�������������
��������������������
���� � ��
� ������� ���� ����� 
���� 	���
��� ��� ���������������� ����������� �		��
������ ���
�		������
�����������������

������������¥����������1 2 ������������������

���
��� ������� �����
��� �­��� �� ��� 
���� ��������� ���������� ��� ���� ��	� �������� ���
	��	������
�������������������
������������	����������������	����
�������������������

����������������������������������
�
���������������������
������
 ���
��� ��������� ���� ����������� ���� ��������� ����� ��� �������� � ���� ��������� �������
������
����������
��������������������������
�����������	���������������������
�
�����������
�����������
������������������������
������������������	��������	������������������	����
��������
�����

�����������������������������������
�������������������

���

�������������������������
�������������������������	���������
���
�
��������	������
����������������������������	��
����������������������
������
�����������
�������
��������������������������
���������������������������������������������
�������������

�����
��������������������
����������
����������
��������������
��� � ���� ��������� ���� ���� ����� �������� �������
� ��� ��� 	��� ���� ������
��������
��
��������������	���������������
��	������� �	�������������������
�����
��� � ���� ��������� ���� ���� ����� ���
����� ������� ��� ���������� ��� 	��� ���� ��		�����
������
������
��� � ���� ��������� ���� ���� ����� ���
���� ��� �� ��������� ��£��� ����� ������ ������ ������

��
������������������	��
������	������������������������
��������������������������������	��
�������������������
�������
���������������������
	����������
�����
������
��
���������������������	��������������������
§�������������������������������
����
��
����������������������������������������������
�������������	��	���
������������
���� ���
������������� ¡���������������������������� �������������������������
�������
��������������������������
���� ���
� ����������������
����	���
���������������������� ������������		��
���������
�		������
�����������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������


